Suppose you didn't know how to solve a system of
equations using Substitution, how would you
solve this system of equations using Elimination?
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It would be easier to use Substitution -2} § /
but you can force Elimination to work if 7

needed. That is why it's nice to know -
both methods.

The price of a Hot Dog is twenty three cents less than twice the
cost of a bag of Chips. Two Hot Dogs and three bags of Chips
cost $9.97.

Write and solve a system of equations to find the cost for a
Hot Dog and the cost for a bag of Chips.
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